Rapport Georeferering Laserskanning Var

ﬂ Registration Diagnostics

|Bratus: VALID Registratiom
|Wean Absolute Error
for Ensbled Constraints = 0,006 m

for Dizabled Constraints = 0,031 =
|Date: 2021 05 .08 17:21:04

|Database name Flaam_vasar
|

%5:un“cr.rld=
|Targets 04 .05 21 txt (Leveled)
|ScanBorld [Registration 1] (Leveled)
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|Comnstraint ID ScanWorld SeanVWorld Type

£ Targets 04 05 21 txt (Leveled) ScanWorld [Registzation 1] {(Leveled) Coincident
|d Targets 04,05 21 tat (Leveled) ScanVorld [Registration 1) (Leveled) Coincident
= Targets_04.05. 21 txt (Leveled) ScanWorld [Registzation 1] {(Leveled) Coincident
|e Targets Od 05 .21 txt (Levesled) ScanWorld [Registration 1] (Levelead) Coincident
b Targets_04 05 21 txt (Leveled)] ScanVorld [Registration 1] (Laveled) Coincidant
& Targets 04,.05.21 txt (Leveled) ScanVorld [Registration 1] (Laveled) Coincident

|Scanborld Transtorsstions
|Targets_04 05,21 txt (Leveled)

|translation: (0.000, 0.000, 0.000) m

|rotation (0.0000. 10000, 0 0000} 0,000 deg

|

|SeanWorld [Eegistration 1] (Lewveled)

|translation (399482 &30, 6748234 001. 849.326) m
|rotatzon (-0 0000, -0 0000, -1.0000}:90 937 deg

|Tnused ControlSpace Objects
|ScanVorld [Resistration 1] (Leveled):
Vartex = unlabeled
Vertex unlabeled
Vertex = TargstID : =
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